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A1. Multiple-Choice Questions ( 15%) 

i. Moorp's Law is a rule that pred icts 

A) the aιcess iime of the read/write head. 

B) the speed ofthe front side bus. 

C) the pacF at which CPUs improve. 

D) the data transfer rate for a hard drive . 
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lÏ . Most of today's personal computers 凶e to represent each letter or character 

as an 8-bit binary code. 

A) Extended Binary-Coded Decimal Interchange Cvde 

B) U nicode 

C) American Standard Code for Information lnterchange 

D) Binary 

111. A 3.8-GHz processor perfonns work at a rate of 

A) 3.8 mi llion machine cycles per minute. 

B) 3.8 million machine cycles per second . 

C) 3.8 bi lIion machine cycles per second. 

D) 3. 8 billion machine cycl es per minute 

iv. Which of the following is a single-user multítask ùperating system 'ì 

A) Palm OS 

B) Mac OS 

C) Symbian OS 

D) MS-DOS 

V. v..司}en yOll W創立 to extract data from two or more tables 、 you use a(n) query 

A) select 

B)join 

C) relational 

D) object 

vi. Hyperth.reading 一一一一一一 than muJt卜core technology 

A) is slower 

B) is fas ter 

C ) uses a sma!ler chip 

L D) i: bette!' at multitasking 

(背面仍有題 目 ，請繼續作答)
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A2. Basic Concept : (14%) 

i. Please explai n what a machine cycle is (2%) and how the current pusonal computer 

processes 泣. (4%) 

ii. Please translate the string "nCKu" into bínary code by using ASCII standard. (ASCII 

decimal v丸lue ‘ A':65 and 已 a.: 97) (4%) 

lll. Plea ，，~ use sign-magnitude representat lOn to present ‘-42" 111 l-byte binary format. 

(4%) 

A3. Database : (1 2%) 

An airline company would like to build a DB s!'stem. The database should record airport, 

plane and flî ght infonnatíon. The Ri中011 informatìon includes the ai中0口 count句， city. and 

number of Runways. The plane ínformalion íncludeci plane ID , p lane type, nJmber of 

passengers. The flight records flîghtID , dιparture city departure date ‘ cliflve C1可‘ arr ive

date and plane ID . We assume that there is only one ai叩ort in f;. :oich city 

Please draw a ER diagram for these dtscríptions.(4%) 

ii. Please use SQL query [ 0 find the Cities from which there are direct flights to 九 vdney，

in alphabetícal order (4%) 

11 1. The numbers of ínternatìonaJ flí ghts that Je斗ve France on Thursday.(4%) 

A4. Application deveJopment (9%) 

System analysis 1S a key process in syslem lifecyc1e. ]\;nwadays , Unified Modeling 

Language (UML) is the main stream for documentation. Please !!ame 3 dia!!ram~ officially 

announceà in the UML standard and exoíain thei r purposes briefl" . 
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Bl- Multiplc-sclect questions (32 poinlSj cach qucstion 4 points) 
Please select one or more correct dcsc ription(s) ín each of the fo Jlowing qucstions . 
To receive the fu lJ 4 points, you must select the cxactl y right numbers as wcll as 
thc right description items whcn answering each ques tion. Otherwis己， the points 
wi 11 be ded L1ctεd I point Cor guessing one descript ion ilC111 wrong in each qucstion 

時 J -1 About podcasts , 

A. ano lher name [or a webcasl 
B. are updated automatically 
C. enable you to com l11 ul1icate wilh rri encl ~、 in rcal timc 
D. need a tuning device to lislen 
E. use RSS techno logie~ 

ß 1-2 About c1 ien t!servcr nctworks 、

A. are relati vel y hard to ins laJ J add itional servers 
B. allow llsers on the server to coordinate tì le sccurity 
C. have tried to be decentralized 
D. have increased scalabi li ly 
E. are morc complex lhan P2P nC lwo rk另

B 1-3 About wirelcss I1ctworks, 

A. compared with the iì rewall , they arc J110re scecurc 
日. MANs can be one example 
C. set up by usi ng radio waves 
D. thcir transmissio l1 mcdias 11111s t bc wireless 
E. llsccl diffen:.'ntJy fr0111 thc 802.11 standard 

B 1-4 Abuut ll1él lware, 
A. is a broad ICfITI l1sed 10 rder to so ft丸Narc

B. di ffers Jrom viruses and worms 
C. has a malicious inlen t 
D. inc1 udcs adware as its one form 
E. is rcgardc cJ as dcfccti vc 忌。 ftwarc

B I-5 About Iì rcwa lJ s, 

八. block acccss LO logical porls 
B. can be inSlructed 
C. can bc coniìgured 
D. thwati 1l10st hacking problems 
E. use a nctwork addrcss lran日 J a l ion process 

t背尚仍有乘車目，請繼續作答)
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B 1-6 About network securi旬，

A. accessing to the Intcrnet is always a privilege to all lnternel us行r<;

B. bmte fo rce attacks ca11not be prevented even right now 
C. cloud computing security has varied dimensions ofconcerns 
D. VPNs can be a w ay to build a secure, private network 
E. wireless security policies are seldom implementcd 

B 1-7 About object-Oliented prograrruning, 
A. a c1 ass can bc used to create at least one object 
B. an instance of a class is the function cal led at run-time 
C. its inheritance feature has the same cO l1 cept~ as polymorphism 
D. its encapsulation feature refers to store the bundled data with methods 
E. one method (or function) usually influences more tha l1 one obiect 

B 1-8 About cloud computing, 
A. almost a1l services of c10ud IaaS are built on servers 
B. can be called as Internet-based computing 
C . cloud PaaS clients pay license fce to deploy c10ud applicat lO ns 
D. cloud SaaS reql1 ires clients to run applicat ions on their own compukrs 
E. scalabi li ty can be realized in it 

B2- FiIl-in-thc-blan k qucstions (18 points; cach qucstion 2 poin ts) 

B2-1 J ，i nks抖， D-Link, and Netgear are 一一一一_ devices acting 恕 firewaIls

B2-2 AN 0 , NOT, OR， 、\\// (ωqu昀otat叫tion ma創rk九-吋，:' (叭W叭f吐il岫dcaωiμ叫cl心1) ， % (wildca釗r‘℃廿d旬1) a創11吋d 

combinations of them are all 01方["1":1tO I'S.

B2-3 httn:1 /www.il11 . nc kU.edu.t叭 1 is th-.: fur thc lnsti,ùt-.: ùf Information 

Management at the Nat ional Cheng Kung Universi ty to identify the site's hos t. 

8 2-4 802.1 1 g devices have a s l ower 一一一一一 (the actual speed of data transfer on a 

network) than 802.11 n devices. 

B2-) N etwork 一一一一_ refers to the physical or logical arran包ement of 

tcchnologi cal media, such as Bus , token-ring , and star. 

B2-6 Most 一一一一 ar c install cd inside tc:dmological dcviccs, suc !1 a~ NICs. 

B2刁一一一一一一 is a proccss for granting acccss to a Llscr, who has to provide a 

password or to pass biometric devices cheιking. 

B2-8 PDAs use P ANs to connect wireless deviccs, such as 一一_ technologies 

which use radio waves to exchange data over short dislances. 

B2-9 fT P, HTTP, TCP/IP, SMTP arc all 


